Puissances et Racines (C)

Y14 641

321952

Y38 416

65 536

s

11°

18°

317

Trouvez la racine ou calculez I'exposant.

3 = 13824
I | = 321932
576 - 475
I 3T R 15
w9 = {53144
- 16t = 26*
- 4 = 62
- 322 = 143
- 28 = 27¢
52 = 25°
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Puissances et Racines (C) Solutions

Y14 641

321952

Y38 416

65 536

s

11°

18°

317

Trouvez la racine ou calculez I'exposant.

= 14641

= 5832

=729

=961

3375 =15

38 =2

576 =24

216 =6

289 =17
16* =65536
4% =16
322 =1024
287 =784
52 =25

13 824

321952

Y256

Y625

Y531 441

26*

62

14°

25°

=27

=456976

= 2744

= 531441

=625
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